NSK

High precision motor ready linear system adaptable to common motor
sizes including NEMA 23, 34 and 60mm metric frame motors.

SUBSCRIBE TO NSK NEWSLETTER ==


http://www.nskamericas-literature.com/en/subscribe/

QUICK REFERENCE
T

RS Module
Pages 12 & 13

RM Module
Page 15

Combining Brackets \x

Pages 38 to 40 RH Module

including extended stroke
Pages 16 & 17

Support Slide
Pages 36 & 37

Multi Axis
Combinations
Pages 22 to 35

Motor Mounting Kit
Pages 18 & 19



TABLE OF CONTENTS

General information, features, module construction, and CAD data dOWNIOBAS .........ve oo 4
PROGUCE TN ..o 5
ADPICAHON EXAMIPIES ..o, 6
Reference numbers, motor mounting positions and list Of MOAUIES...........cc.cooiiiiieeeeeeee e 8
SINGIE XIS SEIBCHION ... 10
RS MOUIE = LEFE MOTOT MNOUNT ... 12
RS MOAUIE = RIGNE MNOTOT MIOUN ... 13
R MIOGUIR .. 15
RH MIOAUIE ... 16
RH EXT STTOKE MIOAUIE ... 17
MOTOT MOUNTING KIES......o oo 18
MOLOT INEETTBCE QIMENSIONS ..o 20
2 AXIS COMDINBUION OVEIVIBW ... 22
COMDINATION TYPE: RG-S ..ot 23
COMDINATION TYPE: RGHM ...t 24
COMDINATION TYPE: RDMS ..ottt 26
COMDINATION TYPE: RDHM ...t 27
COMDINATION TYPE: RXHIM ... 28
COMDINATION TYPE: RX-HH ..ot 29
COMDINATION TYPE: RIS ..ot 30
3 AXIS COMDBDINGTION OVEIVIBW ... 31
COMDINATION TYPE: RP-HIMS ...t 32
COMDINATION TYPE: RP-IMSS ...ttt 34
COMDINATION TYPE: RITHMS ...ttt 35
Accessory support slide for combination types: RG-HM & RP-HMS .........co.oiiiiioeeeeeeeeeee e 36
COMDINING DIACKETS ...ttt 38
MOAUIE MOUNTING PIAEES. ...ttt 41
LT SENSOT KITS ... 42
SQUAre NUL FOF MOAUIE T-SI0ES ..ottt 43



GENERAL

Robot Modules are complete linear axis high precision systems for semiconductor, electronic, medical and automated assembly and
production applications. High-quality NSK Linear Guides, NSK Ball Screws and NSK Monocarriers ensure high level of mechanical
reliability and U.S. manufacturing results in faster product delivery. NSK offers this sophisticated technology in an ergonomic design
enclosed in an aluminum housing. The motorless design of these Robot Modules allows users the flexibility to choose their preferred

motors when designing new systems or automating existing processes.

FEATURES

Utilization of NSK Robot Modules provides the
following advantages:

>

NSK components ensure high mechanical reliability of each axis
resulting in systems with high rigidity, long life and smooth
motion.

Reduced time and labor costs associated with a pre-assembled
axis.

3 different types available - RS (small), RM (medium) and RH
(heavy) to meet application stroke and payload requirements.

Standard patented K1™ Lubrication Units on the NSK Ball Screws,
Linear Guides and Monocarriers provide maintenance-free
operation up to 10,000 km or 5 years.

Combination brackets are available for attaching individual Robot
Modules together into two- or three-axes configurations.

Module Mounting Plates are available for attaching Robot Modules
to your machine.

Motor Mounting Kits are available for 60mm metric frame, NEMA
23 and NEMA 34 motor interfaces.

Optional Stroke Limit and Home Position sensor kits.
Motorless design offers user flexibility for motors of choice.
Most Robot Modules sizes available from stock.

Equipped with seal belt for dust proofing.

SolidComponents™

CAD DATA DOWNLOADS

Module Construction

Motor
Mounting
Interface

T-Slots for Mounting
Accessories

Module Main Body

NSK has partnered with SolidComponents™ to offer you easy access to CAD files and technical information. Visit SolidComponents
(http://npa.solidcomponents.com) to download CAD files and technical information.



PRODUCT LINE

Multi Axis Combinations
(Pages 22 to 35)

RS Module RM Module RH Module
(Pages 12 & 13) (Page 15) (Pages 16 & 17)

Motor Mounting Kit Support Slide Combining Brackets
(Pages 18 & 19) (Pages 36 & 37) (Pages 38 to 40)



2 - Palletization of
electronic parts

Transfer of syringes

1-

4 - Loader/unloader for inspection device

3 - Loader/unloader for
inspection device

6 - Work feed in stamping machine

5 - Screw-tightening machine in assembly line




8 - Deflashing device for

7 - Automobile taillight bonding

core of sand mold

10 - Parts loader/unloader for processing machinery

9 - Polyethylene can processing machine




REFERENCE NUMBERS

The reference number for the Robot Module is composed of the basic specifications of the unit.

BALL SCREW LEAD

1: 10mm
STROKE EX. 2: 20mm
010: 100 mm 4: 40mm
XY-HRS 010 - RS 1
ROBOT MODULE TYPE
RS: Small
RM: Medium
RH: Heavy

RS Module ordering directions

L

MOTOR MOUNTING
S: Straight

L: Left Motor

R: Right Motor

MOTOR INTERFACE

A: Metric

B: NEMA 23

N: No motor interface

A

F

ASSEMBLY
F: USA

The RS Module is delivered with right or left motor mounts pre-assembled. It is not available in a straight motor mount configuration or with no

motor mount attached. The RS Modules are available with metric or NEMA 23 motor mounting hole patterns.

RH and RM Module ordering directions

Both the modules and motor mounting kits are purchased separately. Motor mounting kits for the RM and RH modules are available with metric,

NEMA 23 or NEMA 34 motor mounting hole patterns.



MOTOR MOUNTING POSITIONS

Straight Motor

Straight

I

List of Modules

Robot
Module

RS Type
RM Type
RM Type
RH Type
RH Type
RH Type

100 200 300
250
250

300

300

Slider

Main unit

400
350
350
400
400

500
450
450
500
500

Right Motor

Stroke (mm)

600
600

750

750
800
800

Right

|

Slider

Main unit

950

950
1000
1000

1200 1400
1200 1400

1600
1600

1800
1800

Left Motor

Ball
Screw

Left

al

Slider

Payload, kq'

Main unit

Linear Guide

Moment Capacities

Nm?2

Lead ‘Horizontal‘ Vertical ‘ Rolling ‘ Pitching ‘ Yawing

10mm
10mm
20mm
10mm
2000 20mm
2000  40mm

20
40
40
200
80
80

20
40
20
40
20
20

32

70

70
600
600
600

24 24
120 120
120 120
450 400
450 400
450 400

Notes:

1) If your payload exceeds listed value contact NSK.
2) The individual moment capacities are defined as the value at which the fatigue life is 10,000 km when that moment acts continuously on the linear guide.



SINGLE AXIS SELECTION

RS Module - Left Motor Mount

Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRSO10-RSTLAF
XY-HRS020-RSTLAF
XY-HRS030-RSTLAF
XY-HRS040-RSTLAF
XY-HRS050-RSTLAF
XY-HRS010-RSTLBF
XY-HRS020-RSTLBF
XY-HRS030-RS1LBF
XY-HRS040-RSTLBF
XY-HRS050-RSTLBF

Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1

RS Module - Right Motor Mount

Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRSO10-RSTRAF
XY-HRS020-RSTRAF
XY-HRS030-RSTRAF
XY-HRS040-RS1RAF
XY-HRS050-RSTRAF
XY-HRS010-RS1RBF Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1
XY-HRS020-RSTRBF
XY-HRS030-RSTRBF
XY-HRS040-RS1RBF
XY-HRS050-RSTRBF

RM Module - Straight Motor Mount

Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS025-RM1SNF
XY-HRS025-RM2SNF

KY-HRS035-RM1SNF XY-P5586RM (NEMA 23-1/4" shaft)

XY-HRS035-RM2SNF or
XY-HRS045-RMTSNF XY-P5587RM (NEMA 34-3/8" shaft)
XY-HRS045-RM2SNF or XY-P170M-1 XY-L3543RM XY-P170M3-1

XY-P5588RM (Metric)

XY-HRS055-RM1SNF or

XY-HRS055-RM2SNF XY-P5717RM (NEMA 23-3/8" shaft)
XY-HRS075-RM1SNF or
XY-HRSO75-RM2SNF XY-P5718RM (NEMA 34-1/2" shaft)

XY-HRS095-RM1SNF
XY-HRS095-RM2SNF

10



RH Module - Straight Motor Mount, Stroke < 1000mm

Reference Number ‘ Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS030-RH1SNF
XY-HRS030-RH2SNF
KV"HRS040-RHISNF XY-P5586RM (NEMA 23-1/4" shaft)
XY-HRS040-RH2SNF or
XY-HRS050-RH1SNF XY-P5587RM (NEMA 34-3/8" shaft)
XY-HRS050-RH2SNF or ) XY-P170H-1 XY-L3542RM XY-P170M3-1
XY-P5588RM (Metric)
XY-HRSO60-RHTSNF or
XY-HRS060-RH2SNF XY-P5717RM (NEMA 23-3/8" shaft)
XY-HRSO80-RHTSNF or B
XY-HRSO80-RH2SNF XY-P5718RM (NEMA 34-1/2" shaft)
XY-HRS100-RH1SNF
XY-HRS100-RH2SN
RH Module - Left and Right Motor Mount, Stroke > 1200mm
Reference Number ‘ Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS120-RH2SNF
XY-P5743RM NEMA 23, 1:1
XY-HRS120-RHASNF or
XY-HRS140-RH2SNF XY-P5744RM NEMA 23, 2:1
XY-HRS140-RHASNF or
XY-HRS160-RH2SNF XY-P5745RI\/\OI?JEI\/\A 34,11
XY-HRS160-RH4SNF XY-P170H-1 XY-L3542RM XY-P170M3-1

XY-HRS180-RH2SNF
XY-HRS180-RHASNF
XY-HRS200-RH2SNF
XY-HRS200-RHASNF

XY-P5746RM NEMA 34, 2:1
or
XY-P5747RM Metric, 1:1
or
XY-P5748RM Metric, 2:1

1"



MOTOR INTERFACE

STROKE EX. BALL SCREW LEAD A:  Metric
010: 100 mm 1: 10mm B: NEMA 23
XY-HRS 010 - RS 1 L A F
TYPE MOTOR MOUNTING ASSEMBLY
Rs: small L: Left Motor F: USA

Note: Reference number designates modules with motor mounting kit.

‘ Payload, kq' ‘

Nominal Stroke Speed
Stroke, Limit +/- | Ballscrew L SA SB Max Inertia Breakaway Mass Backlash,
Reference Number mm 2mm Lead, mm mm mm mm mm/s kg-m2 Torque, N-m kg Horiz Vert mm

XY-HRSO10-RS1LF 100 110 360 60 130 972 1.58E-05 49 20 20
XY-HRS020-RS1L'F 200 210 460 160 180 972 1.74E-05 55 20 20
XY-HRS030-RSTL*F 300 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 0.02
XY-HRS040-RSTL*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RSTL*F 500 510 760 460 330 725 2.22E-05 7.5 20 20

2-M3 x 6 Deep

2-88H7 x 9 Deep
4-M6 x 8 Deep
4-M5 x 10 Deep 0 40 I
70 BOTH ENDS 20 !
15,30 g / 50
I S . = r

O ¢ f o =0
3 9 3 — — _ m
L]
© sl i o yo*,fﬁg O@,f
T
2 o ipeTm s 7
I S, |
I
b N
- ‘%,30 L J \

" NOTE:!

I 1485 1> MOTOR NOT SUPPLIED.

1 2> PULLEYS, TIMING BELT AND MOTOR

ATTACHMENT HARDWARE SUPPLIED.
64 217.5
100 STROKE N (57>
I T 774“
[ —
100 (SB)
50
Options
Ref Page 6-08H7 x 10 Dedp
Limit Sensor Kit XY-L3544RM 42 ‘ |
Module Mounting Plate  XY-P1705-2 M1 d - & o4 & o o b o T
Square Nut XY-P170M3-1 s3 - - - i — “f
j & & v b e ¢ b 5
S0 S0 «
Linear Guide Moment Capacities®
50 100 sA 100 50 \12—M5 % 10 Deep

Rolling Moment [Nm] 33 LENGTH
Pitching Moment [Nm] » Note: Maximum input torque is 1.9 N-m
Yawing Moment [Nm] 25 1) If your payload exceeds listed value contact NSK.

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

12



MOTOR INTERFACE

STROKE EX. BALL SCREW LEAD A: Metric
020: 200 mm 1: 10mm B: NEMA 23
XY-HRS 020 - RS 1 B R B F
TYPE MOTOR MOUNTING ASSEMBLY
Rs: small R: Right Motor F: USA
Note: Reference number designates modules with motor mounting kit.
_ ‘ Payload, kq' ‘
Nominal Stroke Speed
Stroke, Limit +/- | Ballscrew L SA SB Max Inertia Breakaway Mass Backlash,
Reference Number mm 2mm Lead, mm mm mm mm mm/s kg-m2 Torque, N-m kg Horiz Vert mm
XY-HRS010-RSTR*F 100 110 360 60 130 972 1.58E-05 49 20 20
XY-HRS020-RSTR*F 200 210 460 160 180 972 1.74E-05 55 20 20
XY-HRS030-RSTR*F 300 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 0.02
XY-HRS040-RSTR*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RSTR*F 500 510 760 460 330 725 2.22E-05 75 20 20
2-#8H7 x 9 Dee
4-M6 x 8 Deep
2-M3 x 6 Deep D_\ / 20
4-MS x 9 DP
__10.\40 40 1 S0 BOTH ENDS 30 19
48 ‘ \“ \
¥ WL P i} 5 L
- - - . 2 g
B T
A B v 2
I R
r--——~"""~""~""""""~>"™>""™>"77 IR n ~
! B B HH . ? ) ‘ h
7 I
| MET — e
T)DTP'WElélTDR NOT SUPPLIED. /L 777777777777777 J\ :
2) PULLEYS, TIMING BELT — I
AND MOTOR ATTACHMENT 1485 Il
HARDWARE SUPPLIED. U
217.5 64
<57 STROKE 100
’7 - T 1
— N
(SB) 100
S0
Options
12-MS x 10 Deep /’?B?jgp Ref Page
K A Limit Sensor Kit XY-L3544RM 42
“ b & e e & ¢ o Qé» < O Module Mounting Plate XY-P170S-2 41
S TTE - - - Square Nut XY-P170M3-1 Ve
o o e v b & e & & D
S0 S0
0 100 s 100 50 Linear Guide Moment Capacities®
LENGTH:
Rolling Moment [Nm] 33
Note: Maximum input torque is 1.9 N-m Pitching Moment [Nm] 2
1) If your payload exceeds listed value contact NSK. Yawing Moment [Nm] 25

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

13



NOTES

14



RM MODULE -STRAIGHT MOTOR MOUNT +
MOTOR MOUNTING KIT

MOTOR
BALL SCREW LEAD INTERFACE
STROKE EX. 1: 10mm N: No motor
020: 250 mm 2: 20 mm interface
XY-HRS 025 = RM 1 S N F + XY - P ****RM
TYPE MOTOR MOUNTING ASSEMBLY ~ 5586: NEMA 23 - 1/4
RM: Medium S: Straight F: USA 5587: NEMA 34 - 3/8"
5588: METRIC
5717: NEMA 23 - 3/8"
5718: NEMA 34 -1/2"
_ Payload, kg'
Nominal Stroke Speed
Stroke, Limit +/- | Ballscrew L SA SB Max Inertia Breakaway Mass Backlash,
Reference Number mm 2mm lead, mm | mm mm mm mm/s kg-m2 Torque, N-m kg mm
XY-HRS025-RM1SNF 10 778 3.50E-05 0.26 9.5 40 40
250 260 586 70 177
XY-HRS025-RM2SNF 20 1556 4.83E-05 0.39 9.0 40 20
XY-HRS035-RM1SNF 10 778 3.89E-05 0.26 10.5 40 40
350 360 686 170 227
XY-HRS035-RM2SNF 20 1556 5.22E-05 0.39 10.0 40 20
XY-HRS045-RM1SNF 10 778 4.28E-05 0.26 11.5 40 40
450 460 786 270 277
XY-HRS045-RM2SNF 20 1556 5.61E-05 0.39 11.0 40 20
0.005
XY-HRS055-RM1SNF 10 778 4.67E-05 0.26 12.5 40 40
550 560 886 370 327
XY-HRS055-RM2SNF 20 1556 6.00E-05 0.39 12.0 40 20
XY-HRSO75-RM1SNF 10 650 5.45E-05 0.26 15.5 40 40
750 760 1086 570 427
XY-HRSO75-RM2SNF 20 1300 6.78E-05 0.39 15.0 40 20
XY-HRS095-RM1SNF 10 583 1.72E-04 0.26 17.5 40 40
950 960 1286 770 527
XY-HRS095-RM2SNF 20 1167 1.79E-04 0.39 17.0 40 20
a5 s e Motor Mounting Kits
NOTE: MOTOR e s Ref Page
SUPPLIED BY X d |
CUSTONER RERRERS B L Bl l NEMA 23 - 1/4” shaft XY-PS586RM 18
! B - 8 - - NEMA 23 - 3/8" shaft XY-P5717RM 18
b------1 ﬁ I :] ,
1 / NEMA 34 - 3/8" shaft XY-P5587RM 18
2-98H7 x 11 Deep e ;DDP NEMA 34 - 1/2” shaft XY-P5718RM 19
60mm Frame Metric Motor Kit ~ XY-P5588RM 19
4-M5 x 8 Deep
EQ SP ON
#50 Deep 3 298, 4 BCD STROKE 150 67
4-M5 x 12 Deep ‘
o EQ SP ON -
\ @70 BCD
3 2-08H7 x 11
JTT 1 Deep
g
‘ 4-M4 x 6 Deep
l~—s8—| EQ SP ON
®66, 68 BCD
Options
12-M6 x 9 Deep 200 SA 200 42 R
0 —— r Limit Sensor Kit XY-L3543RM 9]
d S 3 3 £ & £ 3 @ ! .
Module Mounting Plate XY-P170M-1 4
QOO
on - - - 100 Square Nut XY-P170M3-1 43
d 4 & & % & s ' & ¢ . . ogs
700 . Linear Guide Moment Capacities®
6-#8H7 x 11 Deep 200 SB
Rolling Moment [Nm] 70
Note: Maximum input torque is 3.8 N-m Pitching Moment [Nm] 120
1) If your payload exceeds listed value contact NSK.
2) The individual moment capacities are defined as the value at which the fatigue life Yawing Moment [Nm] 120

is 10,000 km when that moment acts continuously on the linear guide.

15



RH MODULE - STRAIGHT MOTOR MOUNT + MOTOR MOUNTING KIT

MOTOR
BALL SCREW LEAD INTERFACE
STROKE EX. 1: 10mm N: No motor
030: 300 mm 2: 20 mm interface
XY-HRS 030 = RH 1 S N F + XY - P ****RM
TYPE MOTOR MOUNTING ASSEMBLY 5586: NEMA 23 - 1/4”
RH: Heavy S: Straight F: USA 5587: NEMA 34 - 3/8"
5588: METRIC
5717: NEMA 23 - 3/8"
5718: NEMA 34 - 1/2"
i Payload, kg'
Nominal Stroke Speed
Stroke, Limit +/- | Ballscrew L SA SB Max Inertia Breakaway Mass Backlash,
Reference Number mm 2mm Lead, nm | mm mm mm mm/s kg-m?2 Torque, N-m kg mm
XY-HRS030-RHTSNF 10 778 4.12E-05 0.7 18 200 40
300 310 612 100 190
XY-HRS030-RH2SNF 20 1556 712E-05 13 17 80 20
XY-HRS040-RH1SNF 10 778 4.51E-05 0.7 20 200 40
400 410 712 200 240
XY-HRS040-RH2SNF 20 1556 7.51E-05 1.3 19 80 20
XY-HRS050-RH1SNF 10 778 4.90E-05 0.7 22 200 40
500 510 812 300 290
XY-HRS050-RH2SNF 20 1556 7.90E-05 13 21 80 20
0.005
XY-HRS060-RH1SNF 10 778 5.29E-05 0.7 24 200 40
600 610 912 400 340
XY-HRS060-RH2SNF 20 1556 8.29E-05 1.3 23 80 20
XY-HRS080-RHTSNF 10 671 6.07E-05 0.7 28 200 40
800 810 1112 600 440
XY-HRS080-RH2SNF 20 134 9.07E-05 13 27 80 20
XY-HRS100-RH1SNF 10 583 1.72E-04 0.7 33 200 40
1000 1010 1312 800 540
XY-HRS100-RH2SNF 20 1167 2.02E-04 13 32 80 20
MOtOI’ MOUﬂtIng KitS NOTE: MOTOR SUPPLIED 10 65 65 10 4-M8x12 Deep
BY CUSTOMER
Ref Page w v
NEMA 23 - 1/4” shaft XY-P5586RM 18 poomoeo- 15 R e .
NEMA 23 - 3/8" shaft XY-P5717RM 18 : —_— g —
I |
NEMA 34 - 3/8" shaft XY-P5587RM 18 e ! °
& RCI S — ]
NEMA 34 - 1/2" shaft XY-P5718RM 19 A o

60mm Frame Metric Motor Kit ~ XY-P5588RM 19

4-MS x 12 Deep
£0 SP ON 870 BCD

4-M5 x 8 Deep
£Q SP ON
#98. 4 BCD

L (-
T o ) o
46
s — 2| o |
w 4-M4 x 6 Deep
87 oee 6850
Options
Ref Page
Limit Sensor Kit XY-L3542RM 42
Module Mounting Plate XY-P170H-1 4
Square Nut XY-P170M3-1 43

Linear Guide Moment Capacities®

Rolling Moment [Nm] 600
Pitching Moment [Nm] 450
Yawing Moment [Nm] 400

16

2-M3 x 6 Deep
2-08H7 x 11 Deep

L

150 STROKE <65
e ‘ ‘ /—4st x 12 Deep
— 2-#8H7 x 11 Deep.
‘ 1 [ [©
#50 DP 3 ¢10 i—-w kI
J; % 7 ™ o
%%, = k8
—f 135
a7
12-M8 x 12 Deep 200 sa 200 4o
Note: 8-M8 x 12 Deep —
for 400mn stroke 100 200 SB
100 100
\ \ | | | 2
R (3 & & [ + & [
ECXC) .
- - - - 3
200
& ® & ¢ y:l & & ® &

6-@8H7 x 11 Deep :Y
Note: Maximum input torque is 3.8 N-m
1) If your payload exceeds listed value contact NSK.
2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.



RH MODULE - EXTENDED STROKE + MOTOR MOUNTING KIT

MOTOR
BALL SCREW LEAD INTERFACE
STROKE EX. 2: 20mm N: No motor
120: 1200 mm 4: 40 mm interface
XY-HRS 120 - RH 2 S N F + XY - P ****RM
TYPE MOTOR MOUNTING ASSEMBLY  5743: NEMA 23, 1:1 pulley ratio
RH: Heavy S: Straight F: USA 5744: NEMA 23, 2:1 pulley reduction
5745: NEMA 34, 1:1 pulley ratio
5746: NEMA 34, 2:1 pulley reduction
5747: METRIC, 1:1 pulley ratio
5748: METRIC, 2:1 pulley reduction
: Payload, kg’
Nominal Stroke Speed
Stroke, Limit +/- | Ballscrew L SA SB Max Inertia Breakaway Mass Backlash,
Reference Number mm 2mm Lead, nm | mm mm mm mm/s kg-m?2 Torque, N-m kg mm
XY-HRS120-RH2SNF 20 837 1.46E-04 13 4 200 40
1200 1210 1548 1000 640
XY-HRS120-RHASNF 40 1673 1.76E-04 1.9 40 80 20
XY-HRS140-RH2SNF 20 617 1.70E-04 1.3 45 200 40
1400 1410 1748 1200 740
XY-HRS140-RH4SNF 40 1235 2.00E-04 1.9 44 80 20
XY-HRS160-RH2SNF 20 474 1.95E-04 13 50 200 40
1600 1610 1948 1400 840 0.005
XY-HRS160-RH4ASNF 40 949 2.25E-04 1.9 49 80 20
XY-HRS180-RH2SNF 20 376 2.20E-04 1.3 54 200 40
1800 1810 2148 1600 940
XY-HRS180-RH4SNF 40 751 2.50E-04 19 53 80 20
XY-HRS200-RH2SNF 20 305 2.44E-04 13 58 200 40
2000 2010 2348 1800 1040
XY-HRS200-RH4SNF 40 610 2.74E-04 1.9 57 80 20
10 10 90
65T65 4-M8 X 12 Deep @7 ~ ii
13
I I I
1 —3 : z = <
NOTE: : \ r o o
1) MOTOR ADAPTER KIT SHOWN 16 103 154 160 180
INSTALLED FOR CLARTTY. *  —_| | i o o
2) MOTOR ADAPTER KIT SOLD —— T I
. X I@ T
13 /
Motor Mounting Kits 2-M3x 6 Deep 2-M8 x 12 Deep / i 5%
Ref Page i 2-8H7 x 11 Deep 2-8H7 x 11 Deep e L 7043
NEMA 23 - 11 pulley ratio XY-PSTA3RM 19 ~ & |- o b
1 } MOTOR DEPICTED FOR CLARITY.
NEMA 23 - 2:1 pulley reduction  XY-P5744RM 19 2) MOTOR SUPPLIED BY CUSTOMER
NEMA 34 - 1:1 pulley ratio XY-P5745RM 19 L
150 Stroke (65)
NEMA 34 - 111 pulley reduction  XY-P5746RM 19
1 . — o
Metric, 1:1 pulley ratio XY-P5747RM 19 I
Metric, 2:1 pulley reduction XY-P5748RM 19
. L 200 SA 200 (40)
Options _: 200 s
Ref Page ] r*mo’ r‘WOO*- r-‘wo’ [14
Limit Sensor Kit XY-L3542RM ) 310 M ¢ M ¢ M ¢ *7 {
Module Mounting Plate XY-P170H-1 | °°° 15
000
Square Nut XY-P170M3-1 43
° ¢ o p 4 ¢ & » -
Linear Guide Moment Capacities® 12:M8 x 12 Deep 6-8H7 x 11 Deep L
Rolling Moment [Nm] 600
Pitching Moment [Nm] 450 1) If your payload exceeds listed value contact NSK.
Yawing Mament [Nm] 400 2) The individual moment capacities are defined as the value at which the fatigue life

is 10,000 km when that moment acts continuously on the linear guide.

17



MOTOR MOUNTING KITS

Motor Mounting Kits provide the hardware necessary to connect NEMA 23, NEMA 34 or 60mm
Frame Metric motors to the base module. These kits allow the user the flexibility to attach
motors of their choice to the base module.

See opposite page for definition of the various motor interfaces.

There are two kits for the RS module, five kits for RH/RM < 1000mm and six kits for the RH
extended module > 1200mm.

The motor mounting kit for the RS module comes installed and ready to accept the user’s
motor.

Shaft Coupling

33.3 8 @10 Ball screw

5] @ RS MODULE

‘ PN XY-P5584RM, 60mm Frame Metric Motor Kit
» 60mm Frame Metric Motor Plate
» 60mm Frame Metric Motor Mounting Nut Plate

©6.35 (NEMA 23)

9.53 (NEMA 23) »Motor Shaft Pulley, g14mm 1D
$9.53 (NEMA 34) Length e
D12.7 (NEMA 34) » Timing Belt

®14 (Metric)

» Qty 4, M5 x 14 Socket Head Cap Screw

NEMA 34 Motor Adapter Plate RH/RM <1000mm

77

PN XY-P5585RM, NEMA 23 Motor Mounting Kit
» NEMA 23 Motor Plate
j [ 2t » NEMA 23 Motor Mounting Nut Plate
ﬁ , Motor Shaft Pulley, a1/4” 1D, ¢3/8” ID
‘ » Timing Belt
» Qty 4, M4 x 14 Socket Head Cap Screw

38.5

00
—0.1

77
2493

RH/RM MODULES - STROKE < 1000MM
PN XY-P5586RM, NEMA 23 @1/4” Motor Mounting Kit

. ‘ » NEMA 23 Motor Adapter Ring
2 i » Jaw Type Shaft Coupling, g10mm x @1/4” x 47.6mm long
UELE — 0 Ty » Disk Type Shaft Coupling, @10mm x @1/4” x 44.5mm long
CoRe 9731784 » Qty 4, M4 x 8 Socket Head Cap Screw
NEMA 23 Motor Adapter Ring RH/RM <1000mm PN XY-P5717RM, NEMA 23 ¢3/8” Motor Mounting Kit

» NEMA 23 Motor Adapter Ring

» Jaw Type Shaft Coupling, @10mm x @3/8" x 47.6mm long
- » Disk Type Shaft Coupling, @10mm x @3/8" x 44.5mm long
» Qty 4, M4 x 8 Socket Head Cap Screw

0.0
249,931

+0.1
2382701

PN XY-P5587RM, NEMA 34 ¢3/8” Motor Mounting Kit
» NEMA 34 Motor Adapter Plate
» Jaw Type Shaft Coupling, g10mm x @3/8" x 47.6mm long
33,89 » Disk Type Shaft Coupling, @10mm x @3/8" x 44.5mm long
» Qty 4, M5 x 16 Socket Head Cap Screw

18



PN XY-P5718RM, NEMA 34 @1/2” Motor Mounting Kit

>

>

>

NEMA 34 Motor Adapter Plate

Jaw Type Shaft Coupling, @10mm x @1/2" x 47.6mm long
Disk Type Shaft Coupling, @10mm x @1/2" x 44.5mm long
Qty 4, M5 x 16 Socket Head Cap Screw

PN XY-P5588RM, 60mm Frame Metric Motor Kit

>

>

>

Jaw Type Shaft Coupling, @10mm x @14mm x 47.6mm long
Disk Type Shaft Coupling, @10mm x g14mm x 44.5mm long
Qty 4, M5 x 16 Socket Head Cap Screw

RH MODULE STROKES > 1200MM
PN XY-P5743RM, NEMA 23, 1:1 Pulley Ratio, Motor Mounting Kit

NEMA 23 Motor Mounting Plate
NEMA 23 Motor Mounting Nut Plate
Belt Cover

Qty 4, M3 Hex Standoff

Motor Pulley, 1/4” 1D, 31.83 PD
Motor Pulley, 3/8” ID, 31.83 PD
Ballscrew Pulley, 10mm 1D, 31.83 PD
Timing Belt

Assorted Fasteners

PN XY-P5745RM NEMA 34, 1:1 Pulley Ratio, Motor Mounting Kit

NEMA 34 Motor Mounting Plate
NEMA 34 Motor Mounting Nut Plate
Belt Cover

Qty 4, M3 Hex Standoff

Motor Pulley, 3/8” ID, 31.83 PD
Motor Pulley, 1/2” 1D, 31.83 PD
Ballscrew Pulley, 10mm 1D, 31.83 PD
Timing Belt

Assorted Fasteners

PN XY-P5747RM, Metric 60mm, 1:1 Pulley Ratio,
Motor Mounting Kit

Metric Motor Mounting Plate

Nut Plate, Metric Motor

Belt Cover

Qty 4, M3 Hex Standoff

Motor Pulley, 14mm 1D, 31.83 PD
Ballscrew Pulley, 10mm 1D, 31.83 PD
Timing Belt

Assorted Fasteners

SHAFT COUPLINGS FEATURES:

Jaw Type - three piece coupling consisting of two hubs and
a spider. The spider is made from polyurethane thereby
providing damping and protection against impulse loads.
The spider is pressed into the hubs providing zero backlash
operation.

Disk Type - five piece coupling consisting of two hubs, a
center member and thin metallic disks that transmit torque.
Disk type couplings provide higher torsional rigidity with lower
inertia then other coupling types.

PN XY-P5744RM, NEMA 23, 2:1 Pulley Reduction,
Motor Mounting Kit

» NEMA 23 Motor Mounting Plate

» NEMA 23 Motor Mounting Nut Plate
» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 1/4” 1D, 31.83 PD

» Motor Pulley, 3/8" ID, 31.83 PD

» Ballscrew Pulley, 10mm D, 63.66 PD
» Timing Belt

» Assorted Fasteners

PN XY-P5746RM, NEMA 34, 2:1 Pulley Reduction,
Motor Mounting Kit

» NEMA 34 Motor Mounting Plate

» NEMA 34 Motor Mounting Nut Plate
» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 3/8" ID, 31.83 PD

» Motor Pulley, 1/2" 1D, 31.83 PD

» Ballscrew Pulley, 10mm D, 63.66 PD
» Timing Belt

» Assorted Fasteners

PN XY-P5748RM, Metric 60mm, 2:1 Pulley Reduction,
Motor Mounting Kit

» Metric Motor Mounting Plate

» Metric Motor Mounting Nut Plate

» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 14mm ID, 31.83 PD

» Ballscrew Pulley, 10mm D, 63.66 PD

» Timing Belt

» Assorted Fasteners

19



MOTOR INTERFACE DIMENSIONS

I @E Motor
“ >\
® ® i
@ "C"DIA "A"DIA
’ [
\& ®) =
"F'DIA., 4 HOLES - ~—D
EQUALLY SPACED
ON AN "E"DIA. B.C.D. ~——B—=
‘ Motor Interface
Item Dimension ‘ Metric 60mm NEMA 23 NEMA 34
A Motor Shaft Diameter 14 6.350r 9.53 9.53 0r 12.70
B Motor Shaft Length 30 20.57 3175
C Pilot Diameter 50 3810 73.03
D Pilot Length 3 236 2.36
E Mounting Bolt Circle Diameter 70 66.68 98.43
F Bolt Hole Size 5.5 4.95 5.54

20



NOTES

21



2-Axis Selection

Combination ‘ Type ‘

Page 27

RG-MS Type Aor B
Type Aor C
RG-HM
Type B or D
Type A
RD-MS
Type B
RD-HM Type AorB
RX-HM Type Aor B
RX-HH Type Aor B
Type A
RC-MS
Type B

RX-HH Type
Page 29

X AXxis ‘ Y Axis

XY-HRSO*5-RM*SNF &
WY-P R XY-HRSO*0-RSTR*F

XY-HRSO**0-RH*SNF & XY-HRSO“5-RM“SNF &
XV-P ** R XY-P R

XY-HRSO*5-RM*SNF & XY-HRS0"0-RSTLF

X¥-P 7 RM XY-HRSO0*0-RSTR'F

XY-HRSO**0-RH*SNF &
XY-P***RM

XY-HRSO*0-RSTL'F
XY-HRSO*0-RSTR"F

XY-HRSO**0-RH*SNF &
XY-P**RM

XY-HRSO"5-RM*SNF &
XY= RM

Combining
Bracket

XY-P175GMS-1

XY-P175GHM-1
XY-P175GHM-2

XY-P175DMS-1

XY-P175DHM-1

XY-P175XHM-1

XY-P175XHH-1

XY-P175CMS-1 &
XY-P175XHM-1

RG-HM Type
Page 24

Module Mounting
Plate

XY-P170M-1
XY-P170H-1
XY-P170M-1
XY-P170H-1

XY-P170H-1
XY-P170H-1

NA

X AXis: XY-L3543RM
Y Axis: XY-L3544RM
X AXxis: XY-L3542RM
Y AXxis: XY-13543RM
X AXis: XY-L3543RM
Y Axis: XY-L3544RM
X AXxis: XY-L3542RM
Y AXxis: XY-13543RM
X AXxis: XY-13542RM
Y Axis: XY-L3543RM

XY-L3542RM

X Axis: XY-L3543RM
Y AXis: XY-L3544RM

‘ Limit Sensor Kit ‘ Square Nut

XY-P170M3-1

22



COMBINATION TYPE: RG-MS
- 4

Type A

Type B
Y Axis Stroke + 303 —————=
16—~ 80 =GR 107 =
&)
200
262
X Axis |
Stroke
Motion +
REmg 336 X Axis
X Axis Stroke
Stroke +
. 336
Motion
Range
X Axis
Stroke
136
: l
LIl L | 74
Y Axis
f=— I]é*l-so—— Stroke =107 =
Y Axis Stroke + 303 ————=
m f
| ‘ 1
I | [ 66 278 ‘
[ re—a—2]
f I | [ 66 278
- ! 102 ¢ 3 f
5| 1001
Sy * i - %
] Combination Type and Reference Numbers
/x AXis Combination Type Type Aor B Ref Page
X Axis XY-HRSO"5-RM*SNF 15
X Axis Motor Mounting Kit XY- RM 18&19
Y Axis XY-HRSO*0-RS1R™F 13
- XY Combining Bracket XY-P175GMS-1 39
Combining
Bracket Options:
. Limit Sensor Kit, X Axis XY-L3543RM 42
Y Axis Motor- o . K
Internal Limit Sensor Kit, Y Axis XY-L3544RM 42
CJ (Customer . .
Supplied) X Axis Module Mounting Plate XY-P170M-1 41
@ D: Square Nut XY-P170M3-1 43
Y Ais Transportable Mass Table [kq]
= ‘ Y Axis Stroke, mm
Acceleraionm/s? | 100 | 200 | 300 400 500
X Axis Mofor 49 20 15 Ll 8 6
[Customer 9.8 18 12 9 6.5 5
Supplied)

Note: Assembly of system required

23



COMBINATION TYPE: RG-HM

Type A Type B
Y Axis Stroke + 402 Y Axis Stroke + 402 ——————=
Y Axis Y Axis
180 —= 85 [=—— g o —== 137 — — 137 |=——gijoke —= 85 [=—180—=
21
215 5
X AXis
Str]oke
X Axis <Im .
Stroke +312 aofion
Motion 3+2 Range
Range 1 N
X Axis X Axis Sﬁré)k(g [ 2 °
) ) Stroke Stroke
>1m = =
0 +354 EE%
1 I i = -5
Lt I t I N HE
s I g,
[ 1 f t e ——
O| 116 16 (]

/X Axis

Combining
Bracket

Y Axis
(e {;

51

T

N—Y Axis Motor

1| | (Customer
58 Supplied)
H\\ \X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

24



] -] ]
o
o
; X Axis
— L Stroke
>1m
Motion . X Axis
X Axis Strok
Remgre Stroke <r]ome
65
~— 180 —= 85 =— Y Axis Stroke —==- 137 —=
Y Axis Stroke + 402
2N
o) 116
 S——— ! * o5
1(;7

Type D
X Axis
Stroke
>1m
+354
gtAfs Moti
roke . ofion
X Axis
+<31]r721 Stroke Range
65
* =— 137 —=1=— Y Axis Stroke —= 85 [=—— 180 —=
Y Axis Stroke + 402
A —_
116 o
3 * r o ——
1(37

Combination Type and Reference Numbers

Combination Type ‘ Type A or C ‘ Type B or D Ref Page
X Axis . 16 &17
X Axis Motor Mounting Kit 18&19
Y Axis 15
Y Axis Motor Mounting Kit 18&19
XY Combining Bracket XY-P175GHM-1 XY-P175GHM-2 39
Options:
Limit Sensor Kit, X Axis XY-L3542RM 42
Limit Sensor Kit, Y Axis XY-L3543RM 42
X Axis Module Mounting Plate XY-P170H-1 41
Square Nut XY-P170M3-1 43
Transportable Mass Table [kq]
‘ Y Axis Stroke, mm
Acceleration m/s? | 250 | 350 | 450 550 750 950
4.9 40 40 40 40 33 24
9.8 40 40 33 28 19 13

25



COMBINATION TYPE: RD-MS

Type A Type B
X Axis Stroke + 336 ————————————= X Axis Stroke + 336 ——————=
i X AXi
o — 4] o 1 e et
153 “:8
T : .
: . ;rr/g)lgé °o : Y Axis S\{Tro)lzlé
S YAXS o4 o l: b o Stroke  +
d : Stroke . = ' 261
. , o o J 1
Reroe i Noten i3
Y Axis Motor- Y Axis
Internal
(Customer
Supplied) Combining )
X Axis Motor Bracket X Axis
(Customer
Supplied) \
AW S / il
S 1 T 170 = L 1 T 170
; Combination Type and Reference Numbers
[‘ Combination Type Type A Type B Ref Page
58 X AXis XY-HRS0"5-RM*SNF 15
T X Axis Mator Mounting Kit XY-P****RM 18619
Y Axis XY-HRSO®O-RSILF | XY-HRSO*O-RSIRF 126 13
XY Combining Bracket XY-P175DMS-1 39
Options:
Limit Sensor Kit, X Axis XY-13543RM 42
Limit Sensor Kit, Y Axis XY-L3544RM 42
Note: Assembly of system required iAXlS A?\IOdtUIQ L P ;(YYiF’P117700IC\A3711 j;
quare Nu - -
Transportable Mass Table [kg]
Y Axis Stroke, mm
Acceleraionm/s2 | 100 | 200 | 300 400 500
4.9 20 20 20 20 20
9.8 20 20 20 20 20

26



COMBINATION TYPE: RD-HM

Type A Type B
Y Axis Siroke + 336 ———————= ¥ Axis Stroke + 336 —————=
e 137 —=l=— Y Axis Stroke ~=f=—— 199 —= -~ 199 sy 137 f=—
140 140
Motion
Range
Motion X Axis
Range Stroke
\ >1m
+ 354
X Axis X Axis X Axis
Stroke Stroke Stroke
+ X AXis
312 | | | | Stroke
, - —- B - E— <im
I = o p— — ] +312
° of
[ < e [ j - Ko} o1 1
1 T

Combination Type and Reference Numbers

49 40 40 40 40 40 40
9.8 40 40 40 40 40 40

X Ax's\_- Combination Type Type A or B Ref Page
X Axis XY-HRSO™*0-RH"SNF 16 & 17
X Axis Motor Mounting Kit i 18819
Lt ot e 5
Supplied) Y Axis Motor Mounting Kit XY-P 18&19
XY Combining Bracket XY-P175DHM-1 39
51 r_, Options:
I Limit Sensor Kit, X Axis XY-13542RM 42
% Limit Sensor Kit, Y Axis XY-L3543RM 42
X Axis Module Mounting Plate XY-P170H-1 41
Square Nut XY-P170M3-1 43
Y Axis -
] Transportable Mass Table [kg]
Combinin
ockel ‘ Y Axis Stroke, mm
Ak Motor/ Acceleration m/s? 250 | 350 | 450 550 750 950

gCusTomer
upplied)

Note: Assembly of system required

27



COMBINATION TYPE: RX-HM

Type A Type B
Y Axis Stroke x 2 + 336 ¥ Axis Stroke x 2 + 336
Y Axis Stroke + 289 ———————= 47 =— Y Axis Stroke —=— * * = Y Axis Stroke —= 47 =—————— Y Axis Stroke + 289
102 102
Y Axis X Axis %(tAxkis
i y Stroke roke
Y Axis Motor Motion y . i
(Customer Range XAXis > 1m i;gl X Axis Motion
Supplied) Stroke +354 Stroke Range
X Axis X Axis
Stroke Stroke
+312 +
; ; i |
o o|
= 180 —= f=— 180 —=|
f * =1 °|
[F o A=n | 16 ° o
ol ° 116 { °
o S - ————
A 107 46 ;
P46 | T T

X Axis
/ Combination Type and Reference Numbers
Combination Type ‘ Type Aor B Ref Page
X Axis XY-HRSO**0-RH*SNF 16 & 17
58 |~ X Axis Motor Mounting Kit XY-P***RM 18&19
Y Axis XY-HRSO"5-RM*SNF 15
| 5 Y Axis Motor Mounting Kit XY-P*7"RM 18 & 19
) } XY Combining Bracket XY-P175XHM-1 40
)z Options:
Limit Sensor Kit, X Axis XY-13542RM 42
Combining Limit Sensor Kit, Y Axis XY-L3543RM 42
— Bracket ] ;
X Axis Module Mounting Plate XY-P170H-1 41
H\\ Square Nut XY-P170M3-1 43
\X Axis Motor
(Customer
Supplied) Transportable Mass Table [kq]
‘ Y Axis Stroke, mm
Note: Assembly of system required Acceleration m/s2 ‘ 250 ‘ 350 ‘ 450 550 750 950
33 24 19 15 12 7 3
4.9 21 16 12 9 5 2

28



COMBINATION TYPE: RX-HH

Type A Type B

Y Axis Stroke x 2 + 312
Y Axis Stroke x 2 + 312
Y AXis Stroke + 262 ————=150 =¥ Axis Sfroke = l=— Y Axis Stroke —=|50 Y Axis Stroke + 262
128 128
Y Axi: X Axis X Axis
Y Axis Motor @ - Siaoke Str]oke
(Customer otion X Axis > 1m oy Motion
Supplied) IREIRED Stroke +3%4 *354y Axis Range
Stroke
X Axis X Axis
Siroke Stroke
[ <lm <im [ |
| +312 +312
T
........... — e
= 180 —= - 180 —=]

‘ L . 110 110 . \
) 46 5
""" T, - T Je T
—--/X Ais Combination Type and Reference Numbers
Combination Type ‘ Type A or B Ref Page
X Axis XY-HRSO™*0-RH"SNF 16 17
X Axis Motor Mounting Kit XY-P****RM 18 &19
87 |- Y Axis XY-HRSO0-RH*SNF 16817
“ * Y Axis Motor Mounting Kit XY-P***"RM 18&19
46 XY Combining Bracket XY-P175XHH-1 40
f Options:
Limit Sensor Kit, X Axis XY-13542RM 42
Limit Sensor Kit, Y Axis XY-L3542RM 42
o Combiring X Axis Module Mounting Plate XY-P170H-1 41
\ Bracket Square Nut XY-P170M3-1 43
Ecﬁxs'fpﬁ"n?f’ ' Transportable Mass Table [kg]
upplied)
Y Axis Stroke, mm
Note: Assembly of system required Acceleration m/s2 ‘ 300 ‘ 400 ‘ 500 600 300 1000
33 40 40 40 40 29 29
49 40 40 40 39 28 19

29



COMBINATION TYPE: RC-MS

Type A Type B
l' 15 15
| 1 I
(=)
[Er i o [ E ,=|
T
130 l’ ‘l Foes 189 f . } :
_ 15 EES
s ]
q: —71164——*169——‘ LQB
4X 99
169 —=1= 116 =
4X 09
X Axis [
153 1 M
g Combinin,
xcti‘ispr\r’nn%'rm Brackevl 9 153
upplied) 7 Axis
r " .. Stroke 7 Axis l
Motion z
Range Sroke 287 Stroke i 5
+  LAXs Motion
o o 267 Stroke Range
0 ° H
ol 114 * °
| 14 ° °
F 7 i M |
X Axis Stroke + 133 417 132 AL 161 4L X Axis Stroke ——= l=— X Axis Stroke —=t=— 141 —s=f=— 132 —=1=— X Axis Stroke + 133 ——=
X Axis Stroke x 2 + 426 X Axis Stroke x 2 + 426

7 AXi
" Combination Type and Reference Numbers

30

/ Z s Motor- Combination Type ‘ Type A ‘ Type B Ref Page
Customer :
{Gustorne X Axis XY-HRSO"S-RISNF 15
X Axis Motor Mounting Kit XY-P****RM 18819
T 7 Axis XY-HRSO*0-RSILF | XY-HRSO*O-RSIRF 12§13
XY Combining Bracket XY-P175XHM-1, XY-P175CMS-1 40
of [o Options:
M Limit Sensor Kit, X Axis XY-L3543RM )
i N * Limit Sensor Kit, Z Axis XY-13544RM 42
X Axis Module Mounting Plate NA |
E _ 3 D 58 square Nut XY-PT70M3-1 3
)
=
U Transportable Mass Table [kg]
Note: Assembly of system required 7 Axis Acceleration ‘ X Axis Stroke, mm
Stroke m/s2 L2230 | 350 450 550
39 8 8 8 54
100mm
49 8 8 5.4 2.4
39 8 8 7 4.7
200mm
49 8 8 47 1.7




RP-HMS Type
Page 32

RP-MSS Type
Page 34
3-Axis Selection
Module
XY Combining | YZ Combining | Mounting
Combination Type X Axis Y Axis 1 Axis Bracket Bracket Plate Limit Sensor Kit Square Nut
Type A et o ocnte o XY-HRS0*0-RSIL*F X Axis: XY-L3542RM
RJ-HMS x HRSOPO RHSNF & XYHRSO 5 RM SNF XY-P175XHM-1 XY-P175CMS-1 XY-P170H-1 Y AXxis: XY-L3543RM
Type B A XY-HRSO"0-RSIRF 7 AXis: XY-L3544RM
Type Aor C 3 P . PR XY-HRSO"0-RSIL*F  XY-P175GHM-1 X AXis: XY-13542RM
RP-HMS RYHRSO O°RH SNF & XY HRS(_) 2RI SNE XY-P175DMS-1 XY-P170H-1 Y AXis: XY-13543RM XY-P170M3-1
Type B or D XY-HRSO"0-RSTR™F  XY-P175GHM-2 7 Axis: XY-L3544RM

X AXis: XY-L3543RM
XY-HRSO"0-RSTR*F  XY-HRSO0-RSIL'F  XY-P175GMS-1 XY-P175DSS-1 XY-P170M-1 Y Axis: XY-L3544RM

XY-HRSO"5-RM*SNF &
M 7 AXxis: XY-L3544RM

RP-MSS Type Aor B XY-P

31



COMBINATION TYPE: RP-HMS

Type A

Y Axis Stroke + 402

=— 180 —== 69 =— Y Axis Stroke —=r=— 153 —=

300
X Axis
Stroke
>1m
+ 354
Motion X Axis
) Range Stroke
<Im
+312
o X Axis
Stroke
|= | f
_ __________ T
Motion 153
/ Range l
" 7 Axis
Z Axis
f ° T Stroke Sirgke
| |I ol - 325
. 1
ST ] i 172
s 65 l

/X Axis

X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

32

XY Combining
Bracket
YCAxi15 Motor
ustomer
- 8= gupplied)
[ N

YZ Combining
Bracket

Z Axis Motor-
Internal
(Customer
Supplied)

Type B
Y Axis Stroke + 402
=— 153 —=r=—Y Axis Stroke —= 69 [=— 180 —=
300
Motion
Range )
o o
X Axis
Stroke
Motion

Range\

7 AXis
Stroke 7 Axis

by Stroke
325

172 ] ]
l 65 4
* e = T



Type C

X Axis
Stroke
<Im
+312

X Axis
Stroke
>1m

+ 354

Motion

Range
69 |=—Y Axis Stroke —=f=— 153 —=
¥ Axis Stroke + 402 ———————=

i

Type D
Motion
Range
[ °
o o
X Axis
X Axis  Stroke
Stroke
<lm
+312 m
X Axis =
Stroke
>1m
+ 354
300
= Y Axis Stroke—=—
Y Axis Stroke + 402 —————=
153 Range\
7 Axis l
Stroke 7 Axis u_

¥
305 Stroke

Combination Type and Reference Numbers

Combination Type ‘ Ref Page
X Axis XY-HRS™*0-RH*SNF 16 &17
X Axis Motor Mounting Kit XY- “RM 18&19
Y AXis XY-HRS0*5-RM*SNF 15
Y Axis Motor Mounting Kit XY-P****RM 18&19
7 AXis XY-HRSO*0-RSIL*F | XY-HRSO*0-RSIR*F 12813
XY Combining Bracket XY-P175GHM-1 XY-P175GHM-2 39
YZ Combining Bracket XY-P175DMS-1 39
Options:
Limit Sensor Kit, X Axis XY-13542RM 42
Limit Sensor Kit, Y Axis XY-L3543RM 42
Limit Sensor Kit, Z Axis XY-L3544RM 42
X Axis Module Mounting Plate XY-P170H-1 4
Square Nut XY-P170M3-1 43
Transportable Mass Table [kq]
ZAxis | Acceleration ‘ Y Axis Stroke, mm
Stroke m/s? ‘ ‘ 450 ‘ ‘ 950
100 or 49 20 16
200 9.8 20 6.6

33



COMBINATION TYPE: RP-MSS

Type A
Y Axis Stroke + 3038 ———————
-*Héﬂ 80 [=——Y Axis Stroke —== 107 =
282
X Axis
Stroke
+
Motion 335
Range
X Axis
Stroke
O g 54
153
I l .
Motion _ 7 AXxis
Range 7 Axis  Stroke
Stroke +
K |
I |
L D#H r
i B ! 142
51 = |

o /X Axis

XY Combining
Bracket

Y Axis Motor-

Internal
Customer
upplied)

- Z Axis Motor-
Internal
(Customer
Supplied)

7 Axis

YZ Combining
Bracket

X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

34

Type B
o
344
X Axis
Stroke
+
335
Motion X Axis
Range Stroke

Y Axis Stroke + 303 ————————

=116~ 80 L——YAxissnoke~—J 107 =

!
153
l Z AXxis
| ﬂ_J EASJSQ ZAXis  Stroke
o — Stroke 2;5
| | |
o oﬁ ] ?
| 142
010 L
!
Combination Type and Reference Numbers
Combination Type ‘ Type A and B ‘ Ref Page
X Axis XY-HRSO*5-RM*SNF 15
X Axis Motor Mounting Kit ’ 18&19
Y AXis XY-HRSO*0-RSTR*F 13
7 Axis XY-HRSO*0-RSTL*F 12
XY Combining Bracket XY-P175GMS-1 39
YZ Combining Bracket XY-P175DS5-1 38
Options:
Limit Sensor Kit, X Axis XY-L3543RM 42
Limit Sensor Kit, Y Axis XY-13544RM 42
Limit Sensor Kit, Z Axis XY-L3544RM 42
X Axis Module Mounting Plate XY-P170M-1 4
Square Nut XY-P170M3-1 43
Transportable Mass Table [kg]
7 Axis Acceleration ‘ X Axis Stroke, mm
Stroke m/s2 © 100 | 200 300 400
49 8 8 48 1.8
100mm
9.8 8 5.8 2.8
4.9 8 8 41 11
200mm
9.8 8 5.1 2.1




Type A

Y Axis Stroke x 2 + 426

Y Axis Stroke + 289 — 137 —==— Y Axis Stroke —=
110
X Axis
. X Axis Stroke
iofion Stroke  <Im
Range 1312
X Axis
Stroke
>Im
+354
153
g 7 Axis
Motion 7 Axis
Range stoke "9k
P = 357

]

b

3

/X Axis
Y Axis Motor

(Customer Supplied)

Y Axis

YZ Combining
Bracket
Z AXis

- 58"
d

;

;Li
XY

\ Bra

Z Axis Motor- Internal
(Customer Supplied)

Combining
cket

¥X Axis Motor

(Custome

r Supplied)

Note: Assembly of system required

Type B
Y Axis Stroke x 2 + 426
=— Y Axis Stroke —s==— 137 —= Y Axis Stroke + 289
T
90
X Axis .
Stroke X Axis Motion
<Im Stroke Range
+312
X Axis
Stroke
>Im
+354
= 180 —=
ITE
7 Axis 7 Axis Mot
ofion
ST"zke Stroke Range
357 = °
‘ . 5
204 ‘ Vi — D Gt
l 46

Combination Type and Reference Numbers

Combination Type ‘ Type A ‘ Type B Ref Page
X Axis 16 &17
X Axis Motor Mounting Kit 18&19
Y Axis 15
Y Axis Motor Mounting Kit XY-P 18&19
7 Axis XY-HRSO*0-RSTL*F | XY-HRSO*0-RSIRF 122813
XY Combining Bracket XY-P175XHM-1 40
YZ Combining Bracket XY-P175CMS-1 40
Options:
Limit Sensor Kit, X Axis XY-L3542RM 42
Limit Sensor Kit, Y Axis XY-13543RM 42
Limit Sensor Kit, Z Axis XY-L3544RM 42
X Axis Module Mounting Plate XY-P170H-1 1
Square Nut XY-P170M3-1 43
Transportable Mass Table [kg]
7 Axis Acceleration ‘ X Axis Stroke, mm
Stroke m/s? | 250 | 350 450 550
100mm 33 8 8 8 5.4
49 8 8 5.4 24
33 8 8 77 47
200mm
49 8 8 47 1.7

35



ACCESSORIES - SUPPORT SLIDE
FOR COMBINATION TYPES: RG-HM AND RP-HMS

| //10.5| (X Axis Stroke 400 or Less)
! //11.0| (X Axis Stroke 500 or More)

Y Axis Stroke + 475
180 85 r=— Y AXis Stroke —==— 144 —= 66 ~=— *
1 |
67.5
215.5
|
ql | X Axis
Stroke
j.- - > '| m
X Axis + 354
Motion S’rr?_ke
Range
o 9 | 200
s \ X AXIS
. Stroke
° i X AXis <1m
A | ||| Stroke +312
. 1:TT_
E i d e
Motor Suppli:t-a-d- Ve
By Customer — N
L
! Motor Supplied
By Customer
Support Bracket Slide Unit

XY—P]77BGHM—]—\= / XY-P1775 * + % 2
[ — j !
B y 116
| -3 [o) (M| ] ‘

T ' f
l ( W [ i //Toa]A]

20 ] :Mounﬂng %’Iote Mounting Plate /

XY-P170H- XY-P170S-2

=2

36



Slide unit Example of reference number:
L XY-P1775030-2
] —
- @:3 Stroke Ex.
100 Stroke 100 14,475 030: 300 mm
ESE
i
gL 2 g
5
66
50 100 SA 100 50
®
g 14 <+ 4 + 4+
<
& * o o EE s I3
12-M5x10 depth| 100 SB «
For stroke 300 to 1,000
Part Number Stroke, mm L, mm SA, mm SB, mm SE, mm Mass, kg
XY-P1775030-2 300 500 200 200 150 48
XY-P1775040-2 400 600 300 250 200 54
XY-P1775050-2 500 700 400 300 250 6.0
XY-P1775060-2 600 800 500 350 300 6.6
XY-P1775080-2 300 1000 700 450 400 78
XY-P1775100-2 1000 1200 900 550 500 90
Support bracket Reference number:
4-6.6 slotted hole, drilled through 28, 28 XY-P177BGHM-1
_ <|
B @ -6
‘ 1
o~ i [Te)
© @ ™
~— o [
Q I ‘
190
@ !
i o | &
T T o
&
10 53 36 | 36
63 72
Module mounting plate Reference number:
116 o XY-P170S-2
[o0)
i —% =SS J—
[ L1 [
B ok e c{ ©
| =
\ o S N \ ==
SE SE # 100 |2 M

6-06.6 drilled through hole to @11 counter bore, 6.5 depth

* We recommend three plates per slide. Reference number designates a quantity of 1 plate.

37



COMBINING BRACKETS

MODULE SIZE
SERIES ATTACHED TO THE DESIGN
P175: R Series FIXED SIDE NUMBER
XY - P175 G H M - 1
COMBINATION MODULE SIZE
TYPE ATTACHED TO THE
MOVING SIDE
» Brackets for combining modules into
2-axis and 3-axis mechanisms.
» Combining brackets contain dowel
pins to ensure a high reproducibility
of assembly accuracy.
XY-P175DSS-1
100
=30 40
— 25 50
-— 26 48 12
* ﬁ ﬁ 1) Use a plastic hammer or similar tool to install
jo 8 (H.:: :+:} the straight pin and chamfered pin into the
“"/\\ Ng bracket. For the chamfered pin, please note
L orientation and install as shown.
40
50 @ 7®7 @
130 & ‘ -8
@ E Accessories
100 N
‘,®} Plate 1 pc.
Nt :I Straight pin 1 pe.
Chamfered pin 1 pc.
Hexagon socket head cap screw M5x18 ---- 8 pcs.
(EB} . \ Hexagon socket head cap screw M6x10 ---- 8 pcs.
40 4 6.60 THRU, COUNTERBORE® 11, 8.5 DEEP
- 10 80
\ 2-@8 HOLE FOR PIN (1)
4-95.50 THRU, COUNTERBORE 9.5, 8 DEEP
I

38



XY-P175DMS-1

4-06.6 drill through 011
counter bore, 8 depth

1) Use a plastic hammer or similar tool to drive

in the straight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through 011
counter bore, 6.5 deep on back

126
27 40 50/
54 15
55 48
I |
| P
| @) P 4 N &
¥ W
| Tie o &
o g
g
8
€8 L g | _
B IS -
3
D)
A e\
g & N2
&l >
55
8 110
1 Hole for 2-08 pin 4-05.5 drill through 9.5 counter bore, 5.4 deep
08
e e
- il i @
& = A
LJ Attached Attached
straight pin  chamfered pin
About 0.6kg
Accessories:
Straight pin

Chamfered pin

Hexagon socket head cap screw M5 x18
Hexagon socket head cap screw M6 x16

XY-P175GMS-1

XY-P175DHM-1

4-06.6 drill through 11 counter bore,
9 depth on the back

4-09 drill through 014
counter bore, 8.6 depth

216
50 ‘ 116 ‘
2 )
28 © © 8
@ €}
100

W )

About 1.6kg

Accessories
Hexagon socket head cap screw M6 x20
Hexagon socket head cap screw M8x25

XY-P175GHM-1

250
66 177
| o
G} =
&
o
0
!
® ® U 2
. =
Q o
&
4-06.6 drill through 1225 =
100 75 s
50 B
Py
¢ o @
********** - <
t el o 3
hd ;9; "»‘«‘\
. ) o
il o
- B
11— — ot v
4-05.5 )
drill through
About 1.6kg
Accessories

Hexagon socket head cap screw M6 x18
Hexagon socket head cap screw M5 x16

330
116 202
[ T 3
& >
&
8
<> 4
I
& o————H1————1—8
4-09 drilled
through hole|
& ¢
147
200 10 64
100 L5_T
8 10, o
7 el
"
17 1
° " I °
e ] uf hat
i T -
i) ] S L) T
e 4-06.6 drilled through hole,
011 counterbore on the back
About 3.6kg
Accessories
Hexagon socket head cap screw M8x20 ------ 4 pcs.
Hexagon socket head cap screw M6 x20 ------ 4 pcs.

Mirror image bracket: XY-P175GHM-2

39



COMBINING BRACKETS (CONTINUED)

XY-P175XHM-1 XY-P175XHH-1

4-09 drill

8.5 130
through 40

H
1e | L P e L

o 1O @ © @ 110 11 o (_F] A 4-09 drill

-09 dri T through
f 4-09 drilled 55 014 counter

64 through hole r—- 180 130 25 _bore on the back

&

72 65
43 © L O 1
11
4-06.6 drilled 8
8 through hot @ Lt C:) 2
bl —Qj o
T o © O
— 20 @
o 8 T$ &l
AN o ! = o ‘ 8
W L = —
147 2| i :T
o
About 4.0kg
About 1.4kg
Accessories Accessory

Hexagon socket head cap screw M8x20 Hexagon socket head cap screw M8x 25 -- 8 pcs.

Hexagon socket head cap screw M6 x20

XY-P175CMS-1

1) Use a plastic hammer or similar tool to drive
in the siraight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through
011 counter bore
(For bracket fixing,

M6 x12 long is used) #1 Hole for 2-08 pin
180
28 80
40
40 100
50
|
A |
Qg [ ¥
JaN 5 <
(o3 8

7N N
(RN
N
6.5,
25 4-M5 drilled through hole
4-06.5 dll through 9.5 counter hore on the back Hexagon socket head
cap screw M5 x18
Plate on the
, pin driving side 08
Bl m
sl [ ik I 8
T T T T <
%L ! LL L}I( ip L“r]:f T T Attached Attached
H 7 L] ache ache
- - ¥ ¥ Lrl straight pin  chamfered pin
About 0.9kg
Accessori

Hexagon socket head cap screw M6 x 1

40



MODULE MOUNTING PLATES

SERIES
P170: R Series

XY - P170 H

MODULE TYPE
H: RH Module
M: RM Module
S: RS Module

» These plates are used for mounting

the module in a “top down manner”.

» Two mounting plates are required
per fixed module.

» Part number designates a quantity
of one mounting plate.

- 1

DESIGN
NUMBER

XY-P170S-2
2-@6.60 Thru 4- §5.50 THRU
@11 Counterbore @9.5 Counterbore
6.5Deep 8 Deep Farside
8 100

95

40

SN oy [T
“\* 1S2X &7 | b
271.5

©) -

About 0.4kg

Accessory
Hexagon socket head bolt M5 x 20 — 4 pcs

XY-P170M-1 XY-P170H-1
4-09 drill through, 014 8.6 depth
4-09 drill through, 014 counterbore, 8.6 depth 4-09 drill through, 914 counterbore, 12 depth on the back
4-06.6 drill through, 011 9 depth on the back -
B 4-C3 —
= —
R
E
©l o o
ol < o O o
- - - - o
o N
A Q
\.// |
“lg 200 ® |20 |
216 —
@ 200 20
About 1.8kg 216
About 2.4kg
Accessory
Hexagon socket head bolt M6 <20 ------ 4 pcs. Accessory

Hexagon socket head bolt M8 <20 ------ 4 pcs.

41



LIMIT SENSOR KITS

XY - L 3542 RM

SENSOR KIT

3542: RH Sensor Kit
3543: RM Sensor Kit
3544: RS Sensor Kit

Provides necessary hardware to set module stroke
limits and home position externally.

Specially designed kit for each module type.

Sensors are mounted using module T-slots for
maximum flexibility in positioning sensors.

Kits come with “High-Flex” sensor cable for
high reliability.

Sensor flag mounts below slider mounting surface.

Module Cross Section

—

A
—— B f——
Dimension A Dimension B
RH Module 90mm 14mm
RM Module 85mm 14mm
RS Module 70mm 14mm

42

RH MODULE SENSOR KIT- PN XY-L3542RM
> RH Module Limit Sensor FIAg .......cc.ccooveevivverireen,
» Limit Sensor (OmMron EE-SX672A) ....ovvvvveeeeeee.

» Limit Sensor Cable with Connector, 2m long
(OMron EE-1010-R2M) oo

» - Limit Sensor T-Slot NUt PI3te.....oovveeveeeeeeeee,
» M3 x 8 Socket Head Cap SCrew .......ccooovvveveereeeen.
» M3 X 6 FIat HEad SCreW ...oveeeeeeeeeeeeeeeeeeeeeee,

RM MODULE SENSOR KIT- PN XY-L3543RM
» RM Module Limit Sensor FIag..........cccooovovvviviorean,
» Limit Sensor (OmMron EE-SX672A) ....ovvvvveeeieee.

» Limit Sensor Cable with Connector, 2m long
(OMron EE-1010-R2M) oo

» Limit Sensor T-Slot NUt PI3te.....ovvovveveeeeeeee,
» M3 x 8 Socket Head Cap SCrew .......ccooovveveeveeeeen.
> M3 X 6 FIat HEad SCreW ...o.veeeeeeeeeeeeeeeeeeeeeee,

RS MODULE SENSOR KIT- PN XY-L3544RM
» RS Module Limit Sensor FIAg.......ccccooovevivervirieen,
» Limit Sensor (OmMron EE-SX672A) ....o.vvvveeeeieeen.

» Limit Sensor Cable with Connector, 2m long
(OMron EE-1010-R2M) .o

» - Limit Sensor T-Slot NUt PI3te.....oovveeveeeoeeeee,
» M3 x 8 Socket Head Cap SCrew .......ccooovveveeveeceen.
» M3 X 6 FIat HEad SCreW ...o.veeeeeeeeeeeeeeeeeeeeeee,



SQUARE NUT FOR MODULE T-SLOTS
. A

XY -

» This nut is used to secure accessories

P170

to the side of the module.

» Nuts are supplied in sets of 4.

» T-slot locations are shown below
for the various module types.

T-SLOT LOCATIONS ON MODULES

RS Module

RM Module

XY-P170M3-1

6.2

N

N
<

\ M3 tap through

t=2.3

D
BN

RH Module

~

40

N
12|

5.2

43



NSK AMERICAS

Argentina

NSK Argentina SRL
Buenos Aires
54.11.4762.6556

Brazil

NSK Brasil Ltda.
Sao Paulo SP
55.11.3269.4700

Canada

NSK Canada Inc.
Mississauga ON
1.877.994.6675

Latin America

NSK Latin America Inc.
Miami FL
1.305.477.0605

Mexico

NSK Rodamientos Mexicana, S.A. de C.V.
Tlainepantla de Baz MX
52.55.3682.2900

United States
NSK Corporation
Ann Arbor MI
1.888.446.5675

Website: www.nskamericas.com
NSK Global: www.nsk.com



http://www.nskamericas-literature.com/
http://www.nsk.com/

	General information, features, module construction, and CAD data downloads 
	Product line 
	Application examples 
	Reference numbers, motor mounting positions and list of modules
	Single axis selection 
	RS Module - Left motor mount 
	RS Module - Right motor mount 
	RM module 
	RH module 
	RH EXT stroke module 
	Motor mounting kits 
	Motor interface dimensions 
	2 Axis combination overview 
	Combination type: RG-MS 
	Combination type: RG-HM 
	Combination type: RD-MS 
	Combination type: RD-HM 
	Combination type: RX-HM 
	Combination type: RX-HH 
	Combination type: RC-MS 

	3 Axis combination overview 
	Combination type: RP-HMS 
	Combination type: RP-MSS 
	Combination type: RJ-HMS 

	Accessory support slide for combination types: RG-HM &•RP-HMS 
	Combining brackets 
	Module mounting plates
	Limit sensor kits 
	Square nut for module t-slots 



